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No No K4 B 4 1L 155 I (S i N AV
1 27 HE R NFID 2 =T /N 4010 4277 1:22.87
2 24 SO S BLAY2=T /N 40.76 4252 1:23.28
3 23 [EESNEPSNYN NFA a =T /N 4136 43.88 1:25.24
4 922 —“m Ffn4 Wb A Ya=7 /4 4186 43.86 1:25.72
5 33 KR % NFID 2 =T /N3 4273 43.77 1:26.50
6 36 A B4 BLAY2=T /N3 4332 4460 1:27.92
7 26 DA S MR 2 =T /N 4247 4562 1:28.09
8 29 Hie B2 R 2 =7 /N3 4464 4472 1:29.36
9 32 WER B BLAY2=T /N3 4473 46.02 1:30.75
10 35 (hm hak NFID 2 =T /N3 4479 4648 1:31.27
11 28 M H BLAY2=T /N3 4494  46.39 1:31.33
12 25 sem JE BLAY2=T /N3 4584  47.24 1:33.08
13 34 H b RERE BLAY2=T /N3 4769 4915 1:36.84
14 37 bkt Es NFID 2 =T /N 4932 47.83 1:37.15
15 31 HE B BRYa=7 /N3 50.07 52.54 1:42.61
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DATA PROCESSING by SE I KO

TIMING by SETKO



=SV I Ny Ve Vv
FH1OEANATFIY 2=T KRS
NFALER A —5;

INFRES - AEH T

WL ap-b oAb B LKR 2RH A B Lex
No No K4 R A& 15 R A 1 L 5 A A
DID NOT START [1st RUN] 0
DID NOT FINISH  [1st RUN] 0
DISQUALIFIED [1st RUN] 0
DID NOT START [2nd RUN] 0
DID NOT FINISH  [2nd RUN] 0
DISQUALIFIED [2nd RUN] 1
30 b NI 7 30) NFIY 2 =T /N GATE No. 9

B ke B

2018-2-18 / NFILE A X —3 G8/ 2

DATA PROCESSING by SE I KO TIMING by SETKO



